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Reasoning for RRB NTPC – (Solutions) 
 

S1. Ans.(c) 

Sol. The correct sequence is — 

Navin > Ramesh > Jaya > Ram > Satish  

 

S2. Ans.(c) 

Sol. PAINTER is not derived from CARPENTER. 

 

S3. Ans.(a) 

Sol. 

 

 

 

S4. Ans.(d) 

Sol. 

 

 

S5. Ans.(a) 

Sol. 
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S6. Ans.(b) 

Sol. 

 
 

S7. Ans.(d) 

Sol.  

 
Distance from his house = 2 km 

 

S8. Ans.(a) 

Sol. 

 
Only conclusion I follows. 

 

S9. Ans.(d) 

Sol. Number of triangles = 16  

 

S10. Ans.(c) 

Sol. 

 
 

S11. Ans.(c) 

Sol. Book contains pages as well as wall contains bricks. 

 

S12. Ans.(c) 

Sol. 
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S13. Ans.(c) 

Sol. 4 × 5 = 20  

And 8 × 9 = 72  

 

S14. Ans.(d) 

Sol. Plant is different from others. 

 

S15. Ans.(d) 

Sol. STU is different due to sequence of letter. 

 

S16. Ans.(d) 

Sol. 

 

So, there is not repeat letter.  

 

S17. Ans.(a) 

Sol. Correct order is – 

 

 

S18. Ans.(b) 

Sol. M N OMMN O M M NOMMN O M  

 

S19. Ans.(c) 

Sol. 14 × 2 – 1 = 27  

27 × 2 – 2 =52  

52 × 2 – 3 = 101  

101 × 2 – 4 = 198  

198 × 2 – 5 = 391  
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S20. Ans.(a) 

Sol. From the family tree — 

 
⇒ M is son of O. 

 

S21. Ans.(b) 

Sol. 305 B 5 A 28 C 43 D 12 

⇒ 305 ÷ 5 – 28 + 43 × 12  

⇒ 61 – 28 + 516 

⇒ 577 – 28 

⇒ 549 

 

S22. Ans.(b)  

Sol. U(21) +E(5) = 26 × 2 = 52  

S(19) + N(14) = 33 × 2 = 66  

I(9) + X(24) = 33 × 2 = 66 

 

S23. Ans.(c)  

Sol. Correct order is:-  

ii. Tool 

iii. Town 

i. Trinity 

iv. Type 

 

S24. Ans.(b) 

Sol.  

 
 

S25. Ans.(b) 
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